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Eh= RER(A) | BIELL () [REERGE | WIFEL® | FAR® | HEAUBE®
JAL-JTAY L—T&Et 155,403 81.2| 487,226 119.2 31.9 46.8
LEN JAL 65,422 73.7| 205212 97.1 31.9 42,0
JTA 67,540 89.7] 231,330 149.9 29.2 48.8
RAC 21,403 81.7] 47,900 118.9 44.7 65.0
JAC 1,038 99.1 2,184 96.7 373 36.4

N &

B & BRRT hemoo | meke [remsm | fisne | AREG [ nenmEs
FIH=3% JAL 56,568 76.9| 160,932 9138 352 42.0
FRF=MH JAL 8,854 58.1 44280 1225 20.0 42.2
Efa =3 JTA 2,160 470 12,705 98.7 17.0 35.7
faiE =R JTA 11,135 98.0 37,125 160.7 30.0 49.2
FH=H1E JAL/JTA 6,507 173.7 19,800 2449 329 46.3
PH=EH JAL/JTA 4629 205.2 9,735 236.0 476 547
M =h1E JTA 1,224 216.6 7,095 430.0 17.3 342
hER =% JTA 5,088 78.9 25,245 1471 20.2 37.6
il LU= AR JTA 702 176.4 4,125 250.0 17.0 241
N =FRE JTA 207 - 1,320 - 15.7 -

BRE=BEKXE RAC 399 - 1,200 - 33.3 -
BEA=5m RAC 1,656 128.6 3,000 100.0 55.2 429
ABER = ok R &R JAC 1,038 99.1 2,184 96.7 373 36.4

R ERET 100,167 83.1] 329,346 115.2 30.4 42.2
RHE== JTA/RAC 20,940 732 63,720 1241 329 55.7
RHFE=11E JTA/RAC 16,193 81.0 51,295 132.2 316 515
BHE=AKE JTA/RAC 7,863 77.8| 18,350 139.0 429 76.6
M= RAC 1,706 85.5 4,150 136.1 411 65.4
MHFE=L K=K RAC 751 69.2 1,350 90.0 55.6 723
AREH=5AE RAC 920 74.0 2,800 93.3 329 415
EL=%RMH RAC 1,771 87.3 4,400 141.9 40.3 65.5

BAARE=JXE RAC 685 60.7 1,350 87.1 50.7 72.8
AiE=53E RAC 2,644 101.0 5,900 134.1 448 595
Eo=%H1 RAC 1,682 82.9 4,400 146.7 38.2 67.6

BR#RE 55,165 779 157,715 128.3 35.0 57.6

EHARRIR S & 155,322 81.2| 487,061 119.1 31.9 46.8
FEHRRIRE & 81 - 165 - 491 -
RIS E 155,403 81.2] 487,226 119.2 319 46.8
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B =3B ER JTA 44 475
e =3 JTA 274 1422
FIH=HiE JAL/JTA 232 249 4
FH==& JAL/JTA 91 264.8
B =H1iE JTA 65 886.1
hER =R %R JTA 148 106.7
LU =ARER JTA 16 732.1
IND=F}ER JTA -
ME=_XKE RAC 1 -
ME=5H RAC 1 -

B oM RET 872 155.7
MEBE=ET JTA/RAC 637 1105
MEE=H1iE JTA/RAC 591 76.1
MBE=AKE JTA/RAC 123 -
MBE=FAKRE RAC 28 -
MBF=At K% RAC 9 -
MEE=5E RAC 16 -
EO=%2EM RAC 17 -
mAR=IXE RAC 9 —
AiE=5E RAC 31 -
BEo=fhiE JTA/RAC 19 -
B NERET 1,480 109.4
EHARIRE AT 2,352 122.9
T EHRIREET 0 -
SRR 2,352 1229
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